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Nhan s6 thap phan véi liy thira cia muoi

Tén:_ Ngaythang:_ Piém:__
7,817 x 10 = 8,295 x 100 =
9,422 x 1000000 = 1, 649 x 100000 =
6, 758 x 1000 = 2,63 x 1000000 =
1,974 x 1000 = 1,137 x 100 =
4,723 x 1000000 = 2,913 x 1000 =
2,282 x 100 = 7,884 x 10000 =
2,593 x 1000 = 2,248 x 100 =
7,154 x 100000 = 7,655 % 10 =
1,757 x 10000 = 9,735 x 1000 =
8,652 x 100 = 6,015 x 1000 =
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Nhan s6 thap phan véi lily thira ctia muoi

Tén:__ Ngaythang: _ Piém:____
7,817 x 10 ="78.17 8,295 x 100 = 829.5
9,422 x 1000000 = 9422000 1,649 x 100000 = 164900
6, 758 x 1000 = 6758 2,63 x 1000000 = 2630000
1,974 x 1000 = 1974 1,137 x 100 = 113.7
4,723 x 1000000 = 4723000 2,913 x 1000 = 2913
2,282 x 100 =228.2 7, 884 x 10000 = 78840
2,593 x 1000 = 2593 2,248 x 100 = 224.8
7, 154 x 100000 = 715400 7,655 x 10 = 76.55
1,757 x 10000 = 17570 9,735 x 1000 = 9735
8,652 x 100 = 865.2 6,015 x 1000 = 6015
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